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The diagram shows a fair spinner in the shape of a rectangular octagon.
The spinner can land on A or B or C.
Marc spins the spinner.,

<

Write down the probability that the spinner will land on A,

......... Ji......

(Total 2 marks)

Ishah spins a fair 5-sided spinner,
She then throws a fair coin.

/N

(a) Listall the possible outcomes she could get.
The first one has been done for you.

(1, head)....(u/...‘3.@9\.9‘)....(:.5:/..L:\.'.i.?:.'e!)....Qk;lﬁﬁ&@)....(\i.hﬁ.m) ...............
(Ledme ) 2o Aol G A [l i) ) B i)

-----------------------------------------------------------------------------------------------------------------------

(2)
Ishah spins the spinner once and throws the coin once,
(b) Work out the probability that she will get a I and a head.
T S
(1)

(Total 3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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There are eight marbles in a bag.

Four marbles are blue (B),
two marbles are red (R)
and two marbles are green (G).

Steve takes a matble at random from the bag.

(a) On the probability scale, mark with the letter B, the probability that

(b)

(c)

Steve will take a blue marble.

I I/% I

R 4

(1)

On the probability scale, mark with the letter G, the probability that
Steve will take a green marble.

FAY

° G

I 7

N[ ——

(1)

On the probability scale, mark with the letter Y, the probability that
Steve will take a yellow marble.

\{

Je

F
I

0 1 1
2

(1)
(Total 3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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4, Lucy uses some letter cards to spell the word “NOVEMBER”.

N O V E/ M| B E R

Lucy takes one of these cards at random.

Write down the probability that Lucy takes a card with a letter E.

(Total 2 marks)
5. Here are some statements,

Draw an arrow from each statement to the word which best describes its
likelihood.

One has been done for you.

Certain

-

A head is obtained when a fair coin is thrown |
once.

Likely 2
|

A number less than 7 will be scored when an
ordinary six-sided dice is rolled once.

Even

It will rain every day for a week next July in
Londen,

Unlikely

A red disc is obtained when a disc is taken at
random from a bag containing 9 red discs and 2
blue discs.

Impossibie

(Total 3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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6. There are three beads in a bag.
One bead is red, one bead is white and one bead is yellow.

Sarah takes, at random, a bead from the bag.
She looks at its colour and then puts the bead back in the bag.

On the probability line,
(i) mark with the letter R the probability that Sarah takes a red bead.

(if) mark with the letter B the probability that Sarah takes a black
bead.

‘I/%
A 7
0

7 o
PO l— —d—

@
(Total 2 marks)

7. A bag contains some beads which are red or green or blue or yellow.

The table shows the number of beads of each colour.

Colour Red Green | Blue | Yellow
Number of
beads 3 2 3 2

Samire takes a bead at random from the bag,
Write down the probability that she takes a blue bead.

----------------------------

(Total 2 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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Here is a fair 7-sided spinner.
The spinner is to be spun once,
The spinner will land on one of the colours.

<

(a) On which colour is the spinner most likely to land?

................ Lllosromnnn
0y
(b) Write down the probability that the spinner will land on green.
Q,
/
9
(1)
(Total 2 marks)

On the probability scale below, mark
(i) with the letter S, the probability that it will snow in London in June,

(if) with the letter H, the probability that when a fair coin is thrown once it
comes down heads,

(iii) with the letter M, the probability that it will rain in Manchester next

year.
¥ M

¥ ¥ +

L=

(Total 3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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10. Joshua rolls an ordinary dice once,
It has faces marked 1, 2, 3, 4, 5 and 6.

(a) Write down the probability that he gets
(i) a6,
(i) an odd number,

(iii) a number less than 3,

---------------------------

(iv) an 8,
............ 0.
(4)
Ken rolls a different dice 60 times. This dice also has six faces.
The table gives information about Ken’s scores.
Score on dice | Frequency
I 9
2 11
3 20
4 2
5
6 10
(b) Explain what you think is different about Ken’s dice.
M dogd. ok, Jeok.. ke e i I3 AR e
Thee. uve. been 20,35, but.oaly... 2 A0l
(1)
(Total 5 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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11. Emily has a bag of 20 fruit flavour sweets.

7 of the sweets are strawberry flavour,
11 are lime flavour,
2 are lemon flavour.

Emily takes at random a sweet from the bag,

Write down the probability that Emily

(a)

(b)

(©

12. (a)

(b)

(©)

takes a strawberry flavour sweet,
does not take a lime flavour sweet,

takes an orange flavour sweet.

................ o1

(Total 3 marks)

On the probability scale below, mark with a cross (x)
the probability that it will rain on at Icast one day in London in 2008.

I I ~f
l I
: ] |
2
(1)
On the probability scale below, mark with a cross (x)
the probability that you will get a 10 when you roll an ordinary 6-sided
dice.
X | |
0 1 1
' 2
(1)
On the probability scale below, mark with a cross (x)
the probability that you will get a head when you throw a coin.
| - i
0 1 1
2
(1)

(Total 3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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Hannah is going to play one badminton match and one tennis match.

The probability that she will win the badminton match is %

The probability that she will win the tennis match is %

(a) Complete the probability tree diagram.

badminton tennis
)
=, Hannah
/ Wins
Hannah

wins

3/’5 Hannah

—————— does not win

Hannah

does not win
x Hannah
/5 does not win

(b) Work out the probability that Hannah will win both matches.

| 8

e

S50

in:o
{1

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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There are only red marbles and green marbles in a bag.
There are 5 red marbles and 3 green marbles.

Dwayne takes at random a marble from the bag.
He does not put the marble back in the bag.

Dwayne takes at random a second marble from the bag.

(a) Complete the probability tree diagram.

1st Marble 2nd Marble
4 Red
E
5 Red
’ 3
/ 7 Green
Red
3 Green
_______ <
Green
(2)
(b) Work out the probability that Dwayne takes marbles of different colours.
S
S 1
) 2 e 7 5¢
3 S 1S
- - x —— _ P
P(«“’“) R - 77 ¢
S By
56
3)
(5 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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Wendy goes to a fun fair.
She has one go at Hoopla.
She has one go on the Coconut shy.

The probability that she wins at Hoopla is 0.4
The probability that she wins on the Coconut shy is 0.3

(a) Complete the probability tree diagram.

Hoopla Coconut shy
Wendy
e
03 __— wins
f'ff
e
Wendy {_5_
ST e
U -4;#-#_#_'_,_'_,.;"" WInNs o -\-\-\-_\"'--\.._\_\_\_\_ )
P 4 e Wend_!_,' does
s nol win
T ,
e - Wendy
B T X o
e ) 63 — wins
0.6 ~—__Wendy does el
not win ==
"'\-\.\_\_\_\_\-\-\-\-\-
"'\-\.\_\_\_\_\_\-\--- )
-2 | ~—__  Wendy does
not win

(b) Work out the probability that Wendy wins at Hoopla and also wins on the Coconut shy.

G 4 x0.3

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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There are 5 red pens, 3 blue pens and 2 green pens in a box.

Gary takes at random a pen from the box and gives the pen to his friend.
Gary then takes at random another pen from the box.

Work out the probability that both pens are the same colour.

20
_E—)(j:‘: P

P(re) o <4 o

-2

3% - £
4
a Q0

16

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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S. Carolyn has 20 biscuits in a tin.

She has
12 plain biscuits
5 chocolate biscuits
3 ginger biscuits

Carolyn takes at random two biscuits from the tin.

Work out the probability that the two biscuits were not the same type.

P(not SomO e PLsuwz)

12_ 1 132

- e = —

P(ﬂ) = 26 “Ta 380
- S x4k - 22

p() 20 " 97 T S0
32 - &

|Se . 227
l — —— —_—
2 §o 380

222
......... =T

(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk



7=

EXAM PAPERS PRACTICE
Here are seven tiles.

I -_“\I .”f S~ 7 S ey —“\, \". .”f "‘\I r ™
1 1 | 2 ‘ ‘ 2 ( 2 i | ‘ 3 J
Moo oo ) T Aoz vy S A Y i

Jim takes at random a tile.
He does not replace the tile.

Jim then takes at random a second tile.

(a) Calculate the probability that both the tiles Jim takes have the number 1 on them.

2 _ 2

—K -— b

|
7 /4 42

Z
................ o

()

(b) Calculate the probability that the number on the second tile Jim takes is greater than the number
on the first tile he takes.

},2 ,/3 2'/3

()

¢(12) ‘?”“3{" — 42

- Z 2 4
r(1.3) - TG W2
z
¢

|

-
P(2/3) - —%—' X

(5 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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There are three different types of sandwiches on a shelf.

There are

4 egg sandwiches,
5 cheese sandwiches
and 2 ham sandwiches.

FErin takes at random 2 of these sandwiches.

Work out the probability that she takes 2 different types of sandwiches.
. - - 2 Sawdb)
P ( 2L d !S%zﬂ"\ = | Pl

pleg) ~ b 3 - 12

M 10 o6
r(co) = 2 <k = 2o
v |0 V10
S22, - 2
PLHH\ = WK\O /\_'—
1o

S
( _ 5¢ _ _—_/_é_
- 1o

1L ©

(5 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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1. The probability that a biased dice will land on a five is 0.3
Megan is going to roll the dice 400 times.
Work out an estimate for the number of times the dice will land on a five.
.3 < 00
3x 4O

[ 22 O
(2 marks)
2.  Jack sows 300 wildflower seeds.
The probability of a seed flowering 15 0.7
Work out an estimate for the number of these seeds that will flower.
QOO xO 1
B0 X ]
210
(2 marks)

3. Angel Ltd manufacture components for washing machines. The probability that a component
will be made within a tolerance of one tenth of a millimetre is 0.995.

Angel Ltd. manufacture 10 000 components each day.

Work out an estimate for the number of components that will not be within the tolerance of
one tenth of a millimetre each day.

O.005 x10eeo
5xto = S0

S50

{2 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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4. Four teams, City, Rovers, Town and United play a competition to win a cup. Only one
team can win the cup. ‘
The table below shows the probabilities of City or Rovers or Town winning the cup.
City Rovers Town United
0.38 0.27 0.15 X
Work out the value of x.
(2 marks)
5. Mia spms a spinnet.
The spinner can land on red or green or blue or pink.
The table shows each of the probabilities that the spinner will land on red or green or
blue.
Colour Red Green Blue Pink
Probability 0.4 0.1 0.2
Work out the probability that the spinner will land on pink.
0.3
(2 marks)
6. A bag contains some sweets.

The flavours of the sweets are either strawberry or chocolate or mint ot orange.
Sarah is going to take one sweet at random from the bag.

The table shows the probability that Sarah will take a strawbetry sweet or a mint sweet or
an orange sweet.

Flavour Strawberry Chocolate Mint Orange
Probability 0.32 0.17 0.2

Work out the probability that Sarah will take a chocolate sweet.

For more help, please visit our website www.exampaperspractice.co.uk
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A bag contains only red, green and blue counters.

The table shows the probability that a counter chosen at random from the bag will be red
or will be green. '

Colour Red Green Blue
Probability 0.5 0.3

Mary takes a counter at random from the bag.

(a) Work out the probability that Mary takes a blue counter.

(2)
The bag contains 50 counters.

(b) Work out how many green counters there are in the bag.

- ; )
A XS0 el
6.3 o

{4 marks)

A bag contains counters which are blue or red or green or yellow.
Mark takes a counter at random from the bag.

The table shows the probabilities he takes a blue counter or a red counter or a yellow
counter,

Colour Blue red green yellow

Probability 0.3 0.2 0.1

(a) Work out the probability that Mark takes a green counter.

..........................

(2)
Mark puts the counter back into the bag.

Laura takes a counter at random from the bag.
She looks at its colour then puts the counter back into the bag.
She does this 50 times.

(b) Work out an estimate for the number of times Laura takes a red counter.
o 2x S0

..........................

(2)
{4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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9.  Marco has a 4-sided spinner.
The sides of the spinner are numbered 1, 2, 3 and 4
The spinner is biased.
The table shows the probability that the spinner will land on each of the numbers 1, 2 and
3
Number I 2 3 4
Probability 0.20 0.35 0.20
(a) Work out the probability that the spinner will land on the number 4
IR
2)
Marco spins the spinner 100 times.
(b) Work out an estimate for the number of times the spinner will land on the number 2
o BSx O O PR
............. Do
2)
(4 marks)
10. A box contains bricks which are orange or blue or brown or yellow.
Duncan is going to choose one brick at random from the box.
The table shows each of the probabilities that Duncan will choose an orange brick or a
brown brick or a yellow brick.
Colour Orange Blue Brown Yellow
Probability 0.35 024 . 0.19
Work out the probability that Duncan will choose a blue brick.
(2 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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11. Riki has a packet of flower seeds.

The table shows each of the probabilities that a seed taken at random will grow into a
flower that is pink or red or blue or yellow.

Colour pink red blue yvellow | white

Probability 0.15 0.25 .20 0.16

(a) Work out the probability that a seed taken at random will grow into a white flower.

..... Q Qq”"

2)
There are 300 seeds in the packet.
All of the seeds grow into flowers.
(b) Work out an estimate for the number of red flowers.
) | 75
5 C:) O X @ Q S .....................................
@)
(4 marks)
12.  There are only red counters, blue counters, white counters and black counters in a bag.
The table shows the probability that a counter taken at random from the bag will be red or blue.
Colour red blue | white black
Probability| 02 | 05 |05 | 015
The number of white counters in the bag is the same as the number of black counters in the bag,
Tania takes at random a counter from the bag.
(a) Work out the probability that Tania takes a white counter.
............... CilD
@)
There are 240 counters in the bag.
(b) Work out the number of red counters in the bag.
- C‘_{_, g
Q G X C:) . l ...................................................
()
(4 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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13. A bag contains some balls which are red or blue or green or black.
Yvonne is going to take one ball at random from the bag.

The table shows each of the probabilities that 'Yvonne will take a red ball or a blue ball or

a black ball.
Colour Red Blue Green Black
Probability 0.3 0.17 0.24

Work out the probability that Yvonne will take a green ball.

{Z marks)

Here is a four-sided spinner. The spinner is biased.

The table shows the probabilities that the spinner will land on 1 or on 3

Number 1 2 3 4

Probability 0.2 035 0.1 0: 38

The probability that the spinner will land on 2 is the same as the probability that the spinner will land
on4 -

(2) Work out the probability that the spinner will land on 4

O.- 35

3)
Shunya is going to spin the spinner 200 times.
(b) Work out an estimate for the number of times the spinner will land on 3

G ] K200
e
@)
{5 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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15. Here is a 4-sided spinner.

7

The sides of the spinner are labelled 1, 2, 3 and 4.

The spinner is biased.

The probability that the spinner will land on each of the numbers 2 and 3 is given in the table.
The probability that the spinner will land on 1 is equal to the probability that it will land on 4.

Number 1 2 3 4
Probability X 0.3 0.2 x
(a) Work out the value of x. =023
)
Sarah is going to spin the spinner 200 times.
(b)  Work out an estimate for the number of times it will land on 2
......... 6O
G Bx200 @)
(4 marks)
Here is a 4-sided spinner.
The sides of the spinner are labelled 1, 2, 3 and 4.
The spinner is biased.
The probability that the spinner will land on each of the numbers 2 and 3 is given in the table.
The probability that the spinner will land on 1 is equal to the probability that it will land on 4.
Number 1 2 3 4
Probability x 0.46 0.28 x
G2 . -
Sarah is going to spin the spinner 500 times. CRRNE
Work out an estimate for the number of times it will land on 4
Soo x0Tz
....... 6.2 ..
(5 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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